
 

 

 

Test - I 
Q1: Translate the following sentences into English:   50 x 1 = 50 

 
1- 5 lky gks x;s gSaA  

2- mls dbZ lky gks x;s gaSA  

3- jke dks [kRe djus esa cgqr le; yxk A 

4- rqEgsa de le; yxsxk A 

5- eq>s 2 fnu yxsA 

6- cPpksa dh NqV~Vh gS vkt A 

7- ogk¡ igq¡pus esa 2 fnu yxrs gSaA 

8- rqEgkjh lkyfxjg dc gS \ 

9- mls dkQh le; gks x;k gSA 

10- ckfj‛k gks jgh Fkh A 

11- D;k ;s dksbZ fx¶V gS \ 

12- 8 fnu gks x;s FksA 

13- ‚kk;n dy ckfj‛k gksxhA 

14- ijlksa vksys iM+s FksA 

15- esjk tUefnu FkkA 

16- vkt dqN gSA 

17- ;s fdrkc i<+rs gq, eq>s 3 eghus gks pqds gSaA 

18- dy Ldqy dh NqV~Vh gksxhA 

19- vkt vksys iDdk iM+saxs A 

20- dkQh le; gks x;k FkkA 

21- D;k ml fnu dqN Fkk \ 

22- ml fnu lkseokj FkkA 

23- eq>s ;gk¡ jgrs gq, 10 lky gks x;s gSaA 

24- rqe ij fuHkZj djrk gSA 

25- dbZ lfn;k¡ chr xbZ gaSA 

26- bruh ckfj‛k D;ksa gksrh gS ;gk¡ \ 

27- ;s djrs gq, gesa 2 lky gks pqds FksA 

28- vxj ckfj‛k gqbZ rks eSa Hkhx tkÅ¡xk A 

29- lkspus dh ckr gSA 

30- tc ge feys Fks

dh ‚kknh gSA

 

Answers 
 

1- 5 lky gks x;s gSaA  It has been 5 years. 

2- mls dbZ lky gks x;s gaSA  It has been many years to him. 

3- jke dks [kRe djus esa cgqr le; yxk A Ram took a long to finish. 

4- rqEgsa de le; yxsxk A You will take less time. 

5- eq>s 2 fnu yxsA I took me 2 days./ I took 2 days. 

6- cPpksa dh NqV~Vh gS vkt A It‟s children‟s holiday today. 

7- ogk¡ igq¡pus esa 2 fnu yxrs gSaA It takes 2 days to reach there. 

8- rqEgkjh lkyfxjg dc gS \ When is your anniversary? 

9- mls dkQh le; gks x;k gSA It has been a long to him. 

10- ckfj‛k gks jgh Fkh A It was raining. 

11- D;k ;s dksbZ fx¶V gS \ Is it some/a gift? 

It – Test Papers 
 

 ml fnu ckfj‛k gks jgh FkhA 

31- ml fnu D;k Fkk \ eaMs ;k laMs \ 

32- mls ;s crkus esa le; D;ksa yxk \ 

33- vPNk yxrk gSA 

34- ogk¡ vDlj ckfj‛k gksrh FkhA 

35- [kkuk [kk;s gq, gesa dbZ fnu gks x;s FksA 

36- fdrus fnu gks x;s gSa \ 

37- Ckkfj‛k gks ldrh Fkh ij gqbZ ugha A 

38- ;s dqN vkSj ugha rqEgkjh lksp gSA 

39- ;s vPNh ckr ugha gSA 

40- mls feys gq, rqEgsa fdrus lky gks x;s gSa \ 

41- ckfj‛k ogk¡ dHkh ugha gksrh A 

42- gesa dbZ fnu yx tk;saxs A 

43- ;s dqN vkSj ugha Hkz"Vkpkj gSA 

44- ;s ukVd ns[ks eq>s iwjs 2 eghus gks x;s gSaA 

45- ogk¡ x;s gq, rqEgsa fdrus lky gks x;sA 

46- ijlksa ckfj‛k gqbZ FkhA 

47- ;s dqN vkSj ugha ikxyiu gSA 

48- ml fnu ckfj‛k tedj gksxh A 

49- vkt vksys iM+ ldrs gSaA  

50- vkt ckfj‛k ugha gksuh pkfg, D;ksafd esjh cgu 



 

12- 8 fnu gks x;s FksA It had been 8 days. 

13- ‚kk;n dy ckfj‛k gksxhA It may/might rain tomorrow. 

14- ijlksa vksys iM+s FksA It had hailed yesterday. 

15- esjk tUefnu FkkA It was my birthday. 

16- vkt dqN gSA It‟s something today. 

17- ;s fdrkc i<+rs gq, eq>s 3 eghus gks pqds gSaA It has been 3 months to me reading this book. 

18- dy Ldwy dh NqV~Vh gksxhA It will be school‟s off tomorrow.  

19- vkt vksys iDdk iM+saxs A It must hail today. / It will definitely hail today. 

20- dkQh le; gks x;k FkkA It had been a long time. 

21- D;k ml fnu dqN Fkk \ Was it something that day? 

22- ml fnu lkseokj FkkA It was Monday that day. 

23- eq>s ;gk¡ jgrs gq, 10 lky gks x;s gSaA It has been 10 years to me living here. 

24- rqe ij fuHkZj djrk gSA It depends on you. 

25- dbZ lfn;k¡ chr xbZ gaSA It has been many centuries. 

26- bruh ckfj‛k D;ksa gksrh gS ;gk¡ \ Why does it rain this much here? 

27- ;s djrs gq, gesa 2 lky gks pqds FksA It had been 2 years to us doing this. 

28- vxj ckfj‛k gqbZ rks eSa Hkhx tkÅ¡xk A If it rains, I will be drenched. 

29- lks

ckfj‛k ugha gksuh pkfg, D;ksafd vkt esjh cgu dh ‚kknh gSAIt mustn‟t rain as it is my sister‟s marriage 

            today. 
 

 

 

 

 

 

egku O;fDr;ksa }kjk dgh xbZ ckrsa (Quotations) 
 

1. Failure is better teacher than success, because when you fail, you focus more for 

the next try. 

2. You can never cross the ocean until you have the courage to lose sight of the shore.  

 

 

pus dh ckr gSA It is a matter to think. 

30- tc ge feys Fks ml fnu ckfj‛k gks jgh FkhA The day we had met, it was raining. 

31- ml fnu D;k Fkk \ eaMs ;k laMs \ What was it that day? Monday or Sunday? 

32- mls ;s crkus esa le; D;ksa yxk \ Why did he take time to tell this? 

33- vPNk yxrk gSA It seems good./It feels good. 

34- ogk¡ vDlj ckfj‛k gksrh FkhA It used to rain there quite often.  

35- [kkuk [kk;s gq, gesa dbZ fnu gks x;s FksA      It had been many days to us having taken the food. 

36- fdrus fnu gks x;s gSa \ How many days has it been? 

37- Ckkfj‛k gks ldrh Fkh ij gqbZ ugha A It could have rained but didn‟t. 

38- ;s dqN vkSj ugha rqEgkjh lksp gSA It is nothing else but your thinking. 

39- ;s vPNh ckr ugha gSA It‟s not good. 

40- mls feys gq, rqEgsa fdrus lky gks x;s gSa \      How many years has it been to you having met him? 

41- ckfj‛k ogk¡ dHkh ugha gksrh A It never rains there. 

42- gesa dbZ fnu yx tk;saxs A                 We will take many days. / It‟ll take us many days. 

43- ;s dqN vkSj ugha Hkz"Vkpkj gSA It is nothing else but corruption. 
44- ;s ukVd ns[ks gq, eq>s iwjs 2 eghus gks x;s gSaA It‟s been complete 2 months to me having seen this serial. 

45- ogk¡ x;s gq, rqEgsa fdrus lky gks x;s \       How many years has it been to you having gone there? 

46- ijlksa ckfj‛k gqbZ FkhA It had rained day before yesterday. 

47- ;s dqN vkSj ugha ikxyiu gSA It is nothing else but obsession. 

48- ml fnu ckfj‛k tedj gksxh A It will rain heavily that day. 

49- vkt vksys iM+ ldrs gSaA  It may/might hail today. 

50- 



 

Test – II 
 

Q1: Translate the following sentences into Hindi:     50 x 1 = 50 
 

1. It took me lots of time. 

2. Did it hail there? 

3. Does it make a difference? 

4. How much time will you take? 

5. It has been about a year having seen him. 

6. It was nothing but his vision. 

7. It‟s hailing continuously. 

8. It‟s hailing continually. 

9. It didn‟t make any difference. 

10. It was Monday that day. 

11. It might rain today. 

12. It might change your mind. 

13. It has been years to me having seen you. 

14. It is nothing else but a try. 

15. It was taking long time. 

16. It‟s holiday tomorrow. 

17. It takes just 2 minutes to reach home. 

18. Did I take more than 5 minutes? 

19. Will you take much time? 

20. He had taken 3 hours to read the whole 

book. 

21. Does it matter? 

22. It has been centuries having someone come 

here. 

23. Will it bother you? 

24. It could have been delayed. 

25. It will be better to go there. 

26. It will be raining there. 

27. It took me a while to repair that mobile. 

28. What does it do? 

29. What is it today? 

30. It‟s my birthday. 

31. It wasn‟t my cup of tea. 

32. Did it take much of your time? 

33. It can‟t bother me. 

34. It is nothing else but a pen. 

35. 
What is it in your pocket? 

37. Why is it taking time? Is it because you are 

new? 

38. It‟s because I don‟t know about this. 

39. It‟s because I had no knowledge. 

40. Is it a machine kind/sort of? 

41. It is something of that sort. 

42. Is it a mobile kind/sort of? 

43. No, it is nothing of that sort. 

44. Did it really rain heavily? 

45. It is not your cup of tea. 

46. How old is it? 

47. It seems to be very old. 

48. It seemed to be new one. 

49. Should it be told to him? 

50. How can it be improved? 

 

Answers 
 

1. It took me plenty of time. eq>s dkQh@cgqr le; yxk A 

2. Did it hail there? D;k ogk¡ vksys iM+s \ 

3. Does it make a difference? D;k blls dksbZ QdZ iM+rk gS \ 

4. How much time will you take? rqEgsa fdruk le; yxsxk \ 

5. It has been about a year having seen him. mls ns[ks gq, djhc ,d lky gks x;k gSA 

6. It was nothing but his vision.                       ;s dqN vkSj ugha cfYd mldk n`f"Vdks.k¼lksp½ FkkA 

7. It‟s hailing continuously. yxkrkj vksys iM+ jgs gSaA 

8. It‟s hailing continually. #d&#d dj vksys iM+ jgs gSaA 

9. It didn‟t make any difference. blls dksbZ QdZ ugha iM+kA 

10. It was Monday that day. ml fnu lkseokj FkkA 

11. It might rain today. vkt ‚kk;n ckfj‛k gks ldrh gSA 

12. It might change your mind. ;s ckr rqEgkjk eu cny ldrh gSA 

13. It has been years to me having seen you. rqEgsa ns[ks gq, eq>s lkyksa gks x, gSa A  

14. It is nothing else but a try. ;s dqN vkSj ugha] ,d dksf‛k‛k gSA 

It depends on your mentality. 

36. 



 

15. It was taking long time. dkQh le; yx jgk Fkk A 

16. It‟s holiday tomorrow. dy NqV~Vh gSA 

17. It takes just 2 minutes to reach home. ?kj igq¡pus esa cl 2 feuV yxrs gSaA 

18. Did I take more than 5 minutes? D;k eq>s 5 feuV ls T+;knk yxs \ 

19. Will you take much time? D;k rqEgsa cgqr le; yxsxk \ 

20. He had taken 3 hours to read the whole book.  mls iwjh fdrkc i<+us esa 3 ?kaVs yxsA 

21. Does it matter? QdZ iM+rk gS D;k \ 

22. It has been centuries having someone come here.lfn;k¡ chr xbZ gaS] ;gk¡ dksbZ vk;s gq,A 

23. Will it bother you? D;k ;s rqEgsa ijs‛kku djsxk \ 

24. It could have been delayed. nsjh gks ldrh Fkh A 

25. It will be better to go there. ogk¡ tkuk csgrj gksxk A 

26. It will be raining there. ogk¡ ckfj‛k gks jgh gksxhA 

27. It took me a while to repair that mobile. eq>s ml eksckby dks Bhd djus esa FkksM+k le; yxkA 

28. What does it do? ;s D;k djrk gS \ 

29. What is it today? vkt D;k gS \ 

30. It‟s my birthday. esjk tUefnu gSA 

31. It wasn‟t my cup of tea. ;s esjs cl dh ckr ugha Fkh A 

32. Did it take much of your time? D;k blus rqEgkjk dkQh le; fy;k \ 

33. It can‟t bother me. ;s ckr eq>s ijs‛kku ugha dj ldrh A 

34. It is nothing else but a pen. ;s dqN vkSj ugha] ,d iSu gSA  

35. It depends on your mentality.       ;s rqEgkjh lksp ij fuHkZj djrk gSA 

36. What is it in your pocket? rqEgkjh tsc esa D;k gS \  

37. Why is it taking time? Is it because you are new?   le; D;ksa yx jgk gS\ blfy, D;ksafd rqe u;s gks\ 

38. It‟s because I don‟t know about this. blfy, D;ksafd eSa blds ckjs esa ugha tkurk A 

39. It‟s because I had no knowledge. blfy, D;ksafd eq>s Kku ugha FkkA 

40. Is it a machine kind/sort of? D;k ;s dksbZ e‛khu tSlk gS \ 

41. It is something of that sort. ;s dqN oSlk gh gSA 

42. Is it a mobile kind/sort of? D;k ;s eksckby tSlk dqN gS \ 

43. No, it is nothing of that sort. ugha] ;s ml rjg dk dqN ugha gSA 

44. Did it really rain heavily? D;k okdbZ esa Hkkjh ckfj‛k gqbZ \ 

45. It is not your cup of tea. ;s rqEgkjs cl dh ckr ugha gSA 

46. How old is it? ;s fdruk iqjkuk gS \ 

47. It seems to be very old. ;s cgqr iqjkuk yxrk gSA 

48. It seemed to be new one. ;s u;k lk yxk A 

49. Should it be told to him? D;k ;s ckr mls crk;h tkuh pkfg, \ 

50. How can it be improved? bls dSls lq/kkjk tk ldrk gS \ 

 
 

 

 

 

 

 

 

egku O;fDr;ksa }kjk dgh xbZ ckrsa (Quotations) 
 

1- Hkfo"; gksrk ugha gS] bldk fuekZ.k gesa [kqn djuk gksrk gSA 

 

2- rkyhesa ugha nh tkrh ifjanksa dks mM+kuksa dh] 

os [kqn gh r; djrs gSa] ÅapkbZ vklekuksa dh] 

j[krs gSa tks gkSalyk vkleku dks Nwus dk] 

oks ugha djrs ijokg t+ehu is fxj tkus dhA 

 

 


